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4A178B~7H308) (7TA3B~10A8 11 H) (10BA 11 H~1A10H) (AB~AR)
1 124 £ 05 121 £ 00 126 £ 05 +
2 129 =+ 1.3 133 £+ 1.2 132 =+ 00 +
3 110 =+ 09" 109 =+ 147 111 £+ 09" +
4 141 + 211 147 =+ 0.77 145 =+ 1.9% +
5 154 =+ 1.7¢ 158 =+ 0.7° 156 =+ 0.5% +
6 119 =+ 0.0¢ 119 =+ 0.0*% 120 + 1.1% +
7 116 =+ 0.8 119 =+ 1.2% 117 =+ 05% +
8 131 £ 10 134 £ 0.7 133 £ 09 +
9 119 £ 05 122 £ 0.7 122 £ 20 +
10 106 =+ 05 106 =X 0.7 107 =+ 00 +
H 5t B 46 = 0.3 47 £ 09 46 =X 04 +
(3A29H~8A2H) (7R 258~10 A 15 A) (10B1B~18168) (AB~AR)

*1: SREHRIZ4 B17B~7 A 31 BTH5,
*x2: SREHMEIL7 A 31 B~10 A 11 BTHS,
*3: R EHIRAIX 7 B 31 H~10 B 12 HTHS,
x4 X EBHARIZ 10 B 11 B~1 A 11 BATHS,
x5 S EEAMIZ 10 B 12AB~1 B 11 HT$H5,

F) 1 RAVMEYBAASARES SEEEFHE (W3 AR INMFEICREL . BEREZTREL,
AERRIBERAUMIBITIREBDFEHBEEL, REFFERFEETRL
HBERBEFERRI LI —AOHFERZRELS-OICHANSRREL 6 BEREN Tt
E—DRBHANITREL. AHRICEEREZHEL - B, ERAUIOBERZRNSLLEMEOD
BERRZBLHIEIEXL TG,



